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(Write your Roll No. on the- top immediately on receipt of this question pdper.)
Note ~—  Answers may be written either in English or in Hmdr;
but thé same medium should be used throughout the
paper.
fromuft ;3@ wEA-TF W SN A o P TH AT
# A AT @i s W wem w @
feq |
Answer ény Five questibns.
* All questions carry equal marks.
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(2) 3678
Examine the reciprocal relationship between theory and

research.
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What is reflexive sociology ? Discuss.

giqafda (reflexive) HASIE ? 2 o HIT |

Discuss the formulation of hypothesis. Examine its significance

in social research.
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Critically examine the advantages and disadvantages of

participant observation with reference to Whyte’s study of

Stréet Corner Society.
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(3) 3678
Discuss the d'iffere'nt.tec‘hniques of sampling and its
signiﬁoa-nce in socibl_ogical research.
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What are the steps involved in planning.and exeéuti_ng a
survey l? '
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Elaborate on the quantitvativ'e and quafitative analysis of
data.
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(a) Calculate the arithmetic mean from the following data of-

marks obtainéd by 60 students of a class :

Marks No. of Students -
20 8
30- 1_2
40 20
50 10
60 6
70 4

(b). From the .following data find the ‘value of median

income :
Income (in Rs.) No. of Persons
100 24
150 2%
& 16
200 20
250 6

180 30



(5) 3678
(¢) Calculate the mode from the following data of the marks

obtained by 10 students :
10 27 24 12 27727 20 18 15 30.
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frafafaa sfemet & mea (arithmétic mean) Tt ITOAT
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() ﬁtr%lf@am 3 mfeare (median) 3T &1 T{E»‘ar
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100 24
150 2%
80 16
200 0
250 6
180 3
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10 27 24 12 27 27 20 18 15 30
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